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A multinational food company, X, has a factory in Country A making soup
and sauces. Company X has another factory in Country B making cereals

and powdered milk. The company thinks that it gets the most efficient use of
resources through specialisation.

(a) (i) Identify the level of specialisation applied by this multinational
company.

(b) The community and managers are two groups of stakeholders involved in
a businesses activity.

Explain why conflict might occur in the objectives of these two groups.

(c) Firms such as X can grow either internally or externally, horizontally or
vertically.

(i) Explain the difference between internal and external growth. Give
examples in your answer.
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(ii) Explain two possible benefits for multinationals like Company X
growing horizontally.

............................................................................................................... [4]
(d) “A country can be badly influenced by increased globalisation”.
Explain this statement.
...................................................................................................................... [4]
[20]
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2 Achmad’s restaurant sells a variety of food products. 2016 was a difficult year
for the business. Its revenue decreased by 20% from 2015 to 2016. Table 1
shows information about the restaurant’s finances.

Table 1
2015 2016
N$ N$
Revenue 80 000 ?
Fixed costs 35000 37 000
Variable costs 18 000 20 000
Profit/Loss 27 000 ?

(a) Calculate
(i) the revenue for 2016.
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(b) Differentiate between fixed cost and variable cost. Give examples in your
answer.

...................................................................................................................... [6]
(c) Name and explain two functions that must be performed by management.

1L P EEPUSPRUPRRR
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...................................................................................................................... [4]
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For
(d) For management to operate successfully, they need to communicate EX""L’;’S"’;"‘”S
efficiently with the workforce.

(i) lllustrate by means of a drawing, what is meant by effective
communication.

[4]
(ii) “Communication can also be one way.”
Explain what is meant by this statement.
............................................................................................................... [1]
[20]
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3 AFC manufacture a range of saucepans and other cooking vessels. AFC sells

its products through its own outlets. Table 2 shows the organisational structure
of AFC.

Table 2

CEO

IT Specialist

Marketing Production Financial  Human Resource
Director Director Director Director

Sales
Manager

Store
Manager

Supervisor

Workers

(a) Explain the following terms:
(i) Chain of command

............................................................................................................... [2]
(ii) Hierarchy
............................................................................................................... [2]
(b) Identify the different levels of hierarchy in the marketing department.
...................................................................................................................... [3]
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For
(c) Identify and explain three benefits of having a shorter chain of command. E"aL’;’s";er’s
1 PP PPPRERPPR
P PEUPPPUPPPR
X PRSP URPPPRRPRR
...................................................................................................................... [5]
(d) AFC is currently using batch production.
(i) Define the term batch production.
............................................................................................................... [2]
(ii) Discuss three advantages of using the batch production method.
e e e e e e e e e e eeeeeeeeeeeaaaeaaaa——————————ateaaaeaaaaaaaeaaaaaaaaannnnnnanrnnnees
2 e e e oo e e oo e eeeeeeeeeeeseee—e————————tetteaaaaaaaaaaaaaaaaaaaaanana———————es
PRSPPI
............................................................................................................... [6]
[20]
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For

4 Marud's is a newly established clothing manufacturer. The demand for their Fxaminer's

funky clothes is on the increase. Marud applied the principle of motivating
workers right from the start.

(a) Explain the term motivated worker.

(b) Explain the advantage to Marud of having motivated workers in the
business.

(c) As a result of increasing demand, Marud needs to advertise some
vacancies.

List four items that must be included in a job advertisement.

...................................................................................................................... [4]
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For

: - : Examiner
(d) Informal groups play an important role within any business. i

(i) Define the term informal groups.
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5 Marcus, an entrepreneur, did research in his local city and found a gap in the o

market for a recruitment agency. To start his own recruitment agency he will
require capital and staff.

(a) Explain the term gap in the market.

(b) Marcus mainly used primary research.

Explain two reasons why he might have used this method of research.
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(d) Explain how the government protects the interests of those who provide
capital.

(e) Why is a business plan important for an entrepreneur, such as Marcus,
and the bank?
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